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First : Choose the correct answer:-
(1) If A and B are two events of sample space for a random experiment and

,P(A) = § , (B|4) = %,P(AlB) = % ,then P(B) =....
) |

o
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(2) If A and B are two events of sample space for a random experiment,
AcB ,P(4) =0.3 and P(B) = 0.5 then P(4|B) =....
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(3) If the regression line equation is = 2+0.5x, then the expected

value ofy whenx = 4 is ...

® 006

2
4
6
7

(4)  If X is a normal random variable whose mean(jt) and its standard

deviation ( ¢),thenPX < p + o) =......

0.3413
0.5

0.8413
0.1587
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(5) IfXis a discrete random variable whose probability distribution is
as follow:

Xr o1} 2|3
F(X)|0.1]02]03]04
Then the mean u equals ...

® 0

(6) If A and B are two independent events such that : P(A) = % .P(B) = %

thenP(4/ n B/) =......
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(7) If X is a normal random variable whose mean p=40 and its standard deviation o

, P( X>48)=0.0228, then o =....
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Secondly: Answer the following questions

(8) calculate Spearman’s ranks correlation coefficient between X and Y

from the data of the following table: -
| X 17 | 11 | 14 | 12 | 16 | 17
Y 13 14 11 | 14 | 14 19

(9) IfZis a standard normal random variable such that

P(—K < Z < K) = 0.6826, then find the value of K

((Anstlaad) dadalt B AL0u8) 4y )y
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(10)IfYX= Y =15 ,YXY =35 ,¥Xx2= Y¥2 =55 andn=5,

Find the correlation coefficient between X and Y

(11) IfX is a continuous random variable whose probability

1
| (X +2) Where0<x <4
density function is: F(x) = |

Find P(X > 3)
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(12) Ifthe expectation of a random variable equals 150 and its variance 36

Find The coefficient of variation

Two balls have been consecutively drawn without replacing. Find the

probability of the two drawn balls are white

w(( Aaa) gl yyx.

(13) A bag contains 8 identical balls. 3 of them red balls and 5 white balls.
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0.0438

0.0478

0.0517

0.0557

0.0636

0.0675

0.0359

0.0832

0.0871

0.0910

0.0948

0.1026

0.1064

0.0753

0.1141

0.1217

0.1255

0.1293

0.1331}{0.

0.1406

0.1443

0.1517§

0.1591

0.1950

0.1628

0.1985

0.1664

0.2019

0.1700

0.2054

0.1772

0.2123

0.1808

0.2157

0.1879

0.2224

59(0.2291

0.2324

0.2357

0.2389

0.2454

0.2486

0.2611

0.2642

0.2673

0.2704

0.2764

0.2794

0.2549]
0.2852}

0.2910

0.2939

0.2967

0.2995

0.3051

0.3078

0.3133

0.3186

0.3438

0.3212

0.3461

0.3238

0.3485

0.3264

0.3508

0.3554

0.3315

0.3340

0.3577

0.3665

0.3686

0.3708

0.3729

0.3770

0.3790

0.3389

0.3621

0.3830

0.3869

0.3888

0.3907

0.3925

0.3962

0.3980

0.4015

0.4049

0.4066

0.4082

0.4099

0.4131

0.4147

0.4177

0.4207

0.4345

0.4222

0.4357

0.4236

0.4370

0.4251

0.4382

0.4279

0.4406

0.4292

0.4418

0.4319

0.4441

 [0.4452

0.4463

0.4474

0.4484

0.4495

0.4515

0.4525

0.4545

0.4554

0.4564

0.4573

0.4582

0.4591

0.4608

0.4616

0.4633

0.4641

0.4649

0.4656

0.4664

0.4671

0.4686

0.4693

0.4706

0.4713

0.4719

0.4778

0.4726

0.4783

0.4732

0.4788

0.4738

0.4793

0.4750

0.4803

0.4756

0.4808

0.4767

0.4817

0.4826

0.4830

0.4834

0.4838

0.4846

0.4850

0.4857

0.4864

0.4868

0.4871

0.4875

0.4881

0.4884

0.4890

0.4896

0.4898

0.4901

0.4904

0.4309

0.4911

0.4916

810.4920

0.4940

0.4922

0.4941

0.4925

0.4943

0.4927

0.4945

0.4931

0.4948

0.4932

0.4849

0.4936

0.4952

0.4955

0.4956

0.4957

0.4959

0.4961

0.4962

0.4964

0.4966

0.4967

0.4968

0.4969

0.4971

0.4972

0.4974

0.4975

0.4976

0.4977

0.4977

10.4979

0.4979

0.4981

0.4982

0.4987

0.4982

0.4987

0.4983

0.4988

0.4984

0.4988

0.4984

0.4989

0.4985

0.4989

0.4985

0.4989

0.4986

0.4990

0.4991

0.4991

0.4991

0.4992

0.4992

0.4992

0.4992

0.4993

0.4993

0.4994

0.4994

0.4994

0.4994

0.4994

0.4995]0.

0.4995}

0.4995

0.4995

0.4996

0.4996

0.4996

0.4996

0.4996

0.4997

0.4997

0.4997

0.4997

0.4997

0.4997

0.4997

0.4997

0.4998

10.4998

0.4998

0.4998

0.4998

0.4998

0.4998

0.4998

0.4998




